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00
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T = R R R = R R R -
® ¢ ¢ ¢ ¢ ¢ ¢ 9o ¢ o

Saxo/Linkbricks-Horizon-Al-Avengers-V1-32B - ® 4734 60.27 14.99

https://huggingface.co/spaces/open-lim-leaderboard/open_lim_leaderboard
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DeepSeek> 3 v 7 (2025514 )

M DeepSeek-R1 W OpenAl-01-1217 M DeepSeek-R1-32B
OpenAl-o1-mini  DeepSeek-V3

» PE{P3EDeepSeek B RN LIZET IV
DeepSeek RIDDTAUVDHEDETILE  om———————

FOMERe % S s 3

-~ N
& (GPQA Diamon d) : : :
= 7 5 5 5 5 {
@ (MATH-500) , ' : : :
el ——————————
knowledge . : . . g
(MMLU) : i : :
Coding :
(SWE-bench) : i
0 20 40 60 80 100

Accuracy/percentile (%)
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B[R HH B https://www-nature-com.kyoto-u.idm.oclc.org/articles/d41586-025-00229-6
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GSM8K D B2

Tina buys 3 12-packs of soda for a party. Including Tina, 6
people are at the party. Half of the people at the party have 3
sodas each, 2 of the people have 4, and 1 person has 5. How
many sodas are left over when the party is over?
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K71 ICBT1FEEHTe AL EMNMLTNET . EME
DEFENENIE, 2AlF4E, 1ARSEZEH>TNE

7. I{-T1 ot & VYA ER->TWET 1 ?

7. V- Y 0REETELET.
o TAHAELRY-F DS
1274 x 3 = 3674
Ric EBIShEY-YOEMESELEY.
o SMEOEH BADE =3A) [F. FhENIETIERD:
3 x 34 = 9

o 2AlFENFNAERERD:
20 x 47 = 84

o 1A[E5AERT:
1A x A = 5
grFENAEEOSFHE:
0+8+5=224&

S0, BYOY-SEH:
36 — 22 = 144

=X 14%

ERLTHELES

— ChatGPT 4o ~ &

Tina buys 3 12-packs of soda for a party.
Including Tina, 6 people are at the party. Half of
the people at the party have 3 sodas each, 2 of
the people have 4, and 1 person has 5. How
many sodas are left over when the party is over?

Let's solve this step by step.

Step 1: Total sodas Tina bought.
Tina buys 3 12-packs, so:

3 x 12 = 36 sodas.

Step 2: Determine how many people are in each group.

There are 6 people total.
+ Half of the people (6 + 2 = 3 people) have 3 sodas each.
s 2 people have 4 sodas each.

+ 1 person has 5 sodas.

Step 3: Calculate total sodas consumed.
+ Group 1: 3 people x 3 sodas = 9 sodas.
« Group 2: 2 people x 4 sodas = 8 sodas.

« Group 3: 1 person x 5 sodas = b sodas.
Total consumed:
9+ 845 = 22 sodas.
Step 4: Find leftovers.
36 — 22 = 14 sodas left over.

Answer:

L
sodas are left over when the parwy is over.
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<s>Tina buys 3 12-packs of soda for a party. Including Tina, 6
people are at the party. Half of the people at the party have 3
sodas each, 2 of the people have 4, and 1 person has 5. How
many sodas are left over when the party is over?
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<s>Tina buys 3 12-packs of soda for a party. Including Tina, 6
people are at the party. Half of the people at the party have 3
sodas each, 2 of the people have 4, and 1 person has 5. How
many sodas are left over when the party is over?

There aren't as many people at the party as there were at the
day before, so there are 6 people at the party, but this year
there weren't as many drinks as at the day before. The party
was still running pretty smoothly, and the turnout was good.
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<s>Tina buys 3 12-packs of soda for a party. Including Tina, 6
people are at the party. Half of the people at the party have 3
sodas each, 2 of the people have 4, and 1 person has 5. How
many sodas are left over when the party is over?

There aren't as many people at the party as there were at the
day before, so there are 6 people at the party, but this year
there weren't as many drinks as at the day before. The party
was still running pretty smoothly, and the turnout was good.
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B2 D& FH (CoT, chain-of-thought reasoning)

Q: The cafeteria had 23 apples. If || Q: The cafeteria had 23 apples. If
they used 20 to make lunch and they used 20 to make lunch and
bought 6 more, how many apples | | bought 6 more, how many apples
do they have? do they have?

A: The answer is
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B2 D& FH (CoT, chain-of-thought reasoning)

Q: The cafeteria had 23 apples. If || Q: The cafeteria had 23 apples. If
they used 20 to make lunch and they used 20 to make lunch and
bought 6 more, how many apples | | bought 6 more, how many apples
do they have? do they have?

A: The answer is 27. X
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B2 D& FH (CoT, chain-of-thought reasoning)

Q: The cafeteria had 23 apples. If || Q: The cafeteria had 23 apples. If
they used 20 to make lunch and they used 20 to make lunch and
bought 6 more, how many apples | | bought 6 more, how many apples
do they have? do they have?

A: The answer is 27. X
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(CoT, chain-of-thought reasoning)

Q: The cafeteria had 23 apples. If
they used 20 to make lunch and
bought 6 more, how many apples
do they have?

A: The answer is 27. X

Holtb b LWTE,
TT- L OIREZADER

SNTWET

Q: The cafeteria had 23 apples. If
they used 20 to make lunch and
bought 6 more, how many apples
do they have?

A: The cafeteria had 23 apples
originally. They used 20 to make
lunch. So they had 23 - 20 = 3.
They bought 6 more apples, so
they have 3 + 6 = 9. The answer is

9. O

37



FERE: LY

<UWCoTZx£T 2 &

Problem

For each positive integer n let a,, be the least positive integer multiple of 23 such that

a, = 1 (mod 2"). Find the number of positive integers n less than or equal to 1000 that satisfy

iy Ty

Solution 1

Denote a,, = 23b,,. Thus, for each n, we need to find smallest positive integer k., such that
23b, = 2"k, + 1.

[Thus, we need to find smallest k.., such that

2"k, = -1 (mod 23).

ZIEDE
IND IE D EE

BT L T, a,®
eI B,

a, =1 (mod 2”)

ZDEE. 1000 T DIEDEK
I b DIfAED B H KD &,

H B: https://artofproblemsolving.com/wiki/index.php/2023_AIME_|

REHET-I230DEZH DS b

;ﬁ?’l@ 7 -6 aAn = an+17&/ﬁ%7ﬁ_

Now, we find the smallest m, such that 2 = 1 (mod 23). By Fermat's Theorem, we must have
m|d (23). Thatis, m|22. We find m = 11.

[Therefore, for each n, we need to find smallest &, such that

gRem(nIDE = _1  (mod 23).

We have the following results:

If Rem (n, 11) = 0,then k,, = 22and b, = 1.
If Rem (n, 11) = 1,then k,, = 11and b, = L.

If Rem (n, 11) = 2,then k,, = 17and b,, = 3.

If Rem (n, 11) = 3,then k, = 20and b, = 7.

If Rem (n, 11) = 4,then k,, = 10and b, = 7.

If Rem (n, 11) = b,then k,, = Sandb, = T.

If Rem (n, 11) = 6,then k,, = 14 and b,, = 39.

If Rem (n, 11) = 7,then k,, = Tand b, = 39.

If Rem (n, 11) = 8,then k,, = 15and b, = 167.
If Rem (n, 11) = 9,then k,, = 19and b, = 423.
If Rem (n, 11) = 10, then k,, = 21 and b,, = 935.

[Therefore, in each cycle, n € {111,117 + 1,---
111 + 6, such that b,, = b,.,,. Thatis, a,, = @, 1. Atthe boundary of two consecutive cycles,
b11L+10 ?5 bll(H—l}'

We have 1000 = 90 - 11 + 10. Therefore, the number of feasible nis 91 .4 — 1 = | (363) |

I~Steven Chen (Professor Chen Education Palace, www.professorchenedu.com)

111+ 10}, we haven = 111, 111 + 3, 111 + 4,

| _Problems/Problem_15
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éa{t = _J_J CJ: % E'_j]l:l EJ I l :/%EE [DeepSeek-Al, 2025]
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DeepSeek-R1-Zero AIME accuracy during training
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%LI ﬁ:ﬁ % % %@ < [DeepSeek-Al, 2025]

DeepSeek-R1-Zero average length per response during training
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[DeepSeek-Al, 2025]

Question: If a > 1, then the sum of the real solutions of \/a —Va+x = x is equal to

Response: <think>
To solve the equation ya — Va +x = x, let’s start by squaring both - - -

(\/a—\/my:xz — a-+a+x=x2

Rearrange to isolate the inner square root term:
(a-x)?=a+x = a®?-2a*+(x*)?=a+x = x*-2ax*-x+(a*-a) =0

Wait, wait. Wait. That’s an aha moment I can flag here.

Let’s reevaluate this step-by-step to identify if the correct sum can be - - -
We started with the equation:
Va-+va+x=x

First, let’s square both sides:
a-Va+x=x* = Va+x=a-x
Next, I could square both sides again, treating the equation: - - -

2
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